STAT 2601  QUIZ #1                  

NAME:                                                 Student ID:                                                                                                                            
Problem1. A national water expert is interested in determing the average amount of lead(in ppm, parts per million) that is found in the Houston, Texas drinking water. To conduct her research, she considers only those residential households within the city limits of Houston, Texas. She collects water samples from 1200 randomly selected households within the city limits to conduct her research. Identify the population of interest to the water expert. (2 pts) Answer: (c)

 (a) The 1200 households that water was collected from.   

(b) Every lake, pond, or river within the city limits of Houston, Texas.
(c) All the residential households within the city limits of Houston, Texas.
(d) Every person who resides within the city limits of Houston, Texas.
Problem2. The Tampa Bay Buccaneers were interested in determining the proportion of their 1999 season ticket holders that were again purchasing season tickets in 2000. They randomly sampled 200 1999 season ticket holders and ask whether they panned to again purchase season tickets in 2000. 190 of the 200 sampled said “yes.” Fill in the blank. The variable of interest to the Buccaneers is a  ---------------------------  variable.  (2pts)  Answer: (b)

 (a) Quantitative        (b) Qualitative   
Problem 3.  A set of data like the number of home runs that Babe Ruth hit as a player for the NY Yankees can be represented by a list:  

                          54,59,35,41,46,25,47,60,54,46,49,46,41,34,22. 
Stemplot of home runs (Babe Ruth)

2 |25

3 |45

4 |1166679

5 |449

6 |0

Describe the shape, center, and spread of this stemplot? (3 pts)
     The shape : roughly mound-shape.

     The center : about 46 home runs.
     The spread appears to be roughly 10 home runs per year   

      above or  below the center 

Problem 4.  Each of 10 children in the third grade was given a reading aptitude test. The score were as follows: 
                           83, 79, 92, 81, 95, 62, 87, 96, 97, 72.
(a) What is the median? (1 pts)
62, 72, 79, 81, 83, 87, 92, 95, 96, 97
Since n =10, 

                 Median=M=(83+87)/2 =85 

(b) What is a sample standard deviation (2 pts)
A shortcut formula for calculating 
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The sample standard deviation, 
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